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G1-M4-Lesson 1

1. Circle groups of 10. Write the number to show the total amount of objects.
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There are _34 peanuts. /\ There are __ 23 carrots.

| circlé groups of ten. | count the tens first
and then the ones. 2 tens 3 ones is 23.

2. Make a humber bond to show tens and ones. Circle tens to help. Write the number to show the total
amount of objects.

a. b.
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I 'think 10, 20, and 8 is 28. ] When [ count with ten-sticks, it's much quicker
to count. 10, 20, 30, 31, 32, 33, ..., 39.
N J
T S e T S e S e ey H R T S R R PR LT »,~=it,?,“ﬂ?i»:z;‘-,_%’i‘;f’f‘i?‘}:‘,f"?,?’-!:';‘»s%a?f:ﬁ-'av(-:.m:««,r», et P e SR A I N B R Ty s TSR TR T
Eu REKA Lessonl: °  Compare the efficiency of counting by ones and counting by tens. 109
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Make or complete a math drawing to show tens and ones. Complete the number bonds.

3,
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[ 35 is made of 3 tens and 5 extra ones.
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G1-M4-Lesson 2

Write the tens and ones. Complete the statement.

tens | ones

ok
ﬁﬁ f?f? ﬁ;z? In the number 16, the 1 stands for

There are 16 flowers) 1 ten. The 6 stands for 6 ones.

Write the tens and ones. Complete the statement.

2.

0 O O tens | ones
7 3

[T

38 can be separated into 2 parts: 30 and 8.
3 8 | have 3 ten-sticks and 8 extra ones.

=

i1

x
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There are 38 cubes|

Write the missing numbers. Say them the regular way and the Say Ten way.

3.

tens | ones

| look at the place value chart. 2 tens
2 7 27 and 7 onesis 27. | can say it the Say

Ten way: 2tens7.
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EUREKA lesson2:  Use the place value chart to record and name tens and ones within a 111

M ATH- . two-digit number.
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4. Choose a number less than 40. Make a math drawing to represent it. Fill in the number bond and piace

value chart.

tens | ones 24 | can make a 5-group column

2 4 /\ » drawing. | draw 2 tens and

4 ones. 24 is 20 and 4.
20 4

0000

TR S ST e

112 Lesson 2: Use the place value chart to record and name tens and ones within a
two-digit number.
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G1-M4-Lesson 3

1. Countas many tens as you can. Complete the statement. Say the numbers and the sentences.

O
o ©

o ©

O

2 tens_6 onesisthesameas 26 ones.

Fill in the missing numbers.

2 27
3 38
4 30

5. Choose at least one number less than 40. Draw the number in 3 ways:

fens | ones

» 8 ones 3 tens
» 0 ones_3 tens

»

| see 26 as 2 tens and 6 extra
ones. { count by tens first.
10,20, and 6 ones is 26.

The number 27 doesn’t have
7 ones. It has 27 ones!

There are 38

_.27 ones ones. Orlcan say
38 has 3tens 8
— 38 ones ones. Each tenis
made of 10 ones.
30 ones

So, I can count on
by tens to get to
30and then by
ones to get to 38.

As grapes: In a number bhond:

In the place value chart:

\

/

16
o)ole)

oo | /\
10 6
>\ ™

draw 1 group of 10 grapes
since 16 has 1 ten. Then, |

tens

ones

draw 6 extra grapes to
show 6 ones. 1 can think of
16 as 1 ten 6 ones or

CG ones. /
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Lesson 3:
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" Interpret two-digit numbers as either tens and some ones or as all ones.




G1-M4-Lesson 4

1.  Fill in the number bond, or write the tens and ones. Complete the addition sentences.

@@ @ c | | tens | ones
OO \ 25 3 4
¥ i
e ) 20 /
; o
P A 54+20= _25_ &::,
] gk
20 more than 5is 25 . 30 + 4 = 34

3 tens 4 ones is the same as the number
34. 3 is the digit in the tens place, and
4 is the digit in the ones place.

| can make a number bond that
shows the tens and ones. 1can
break apart 25 into 20 and 5.

114 Lesson 4: Write and interpret two-digit numbers as addition sentences that EUREKA

combine tens and ones. , MATH..
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2. Match the pictures with the words.

This statement combines tens and ones! ]

@ —
J !

2morethan 30is 32 .

[
Qaoal

20+7 =27

| can write a number sentence with the tens first, or

| can write it with the ones first, like 7 + 20 = 27.

One number tells how many tens there are, and the

other tells how many ones there are.

LR AR A R N e 58 o ot

" Write and interpret two-digit numbers as addition sentences that
combine tens and ones.
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G1-M4-Lesson 5

Draw quick tens and ones to show the number. Then draw 1 more or 10 more.

1.

00000 000

1 more than 27 is 28

00000 00

10 morethan 27 is _37

1 can show 27 with 2 quick tens and
7 ones in a 5-group column. To
figure out 1 more, | add 1 circle to
the ones, so 7 ones becomes 8 ones.

Look at how quickly | can draw 37. A quick
ten is a line that holds 10 beads! It
represents a ten. | can draw one more
quick ten to show 10 more than 27.

Draw quick tens and ones to show the number. Cross off (x) to show 1 less or 10 less.

3.

00000 0O

10lessthan17is _7

OOOOX

1lessthan 25is 24 .

[ can cross out a quick ten when |
want to show 10 less than 17.
Now, there are no tens and 7 ones.

RN A Rk
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Match the words to the picture that shows the right amount.

5.

g 10 less than 23
6.

gﬂ] 10 more than 16

R N L e T T T T e L T R e T I S T T

The digit in the tens place
changes when | think of
10 more than 16. The
hew number is 26. That's
2 tens 6 ones.

EUREKA Lesson 5: * Identify 10 more, 10 less, 1 more, 1 less than a two-digit number. 117

- MATH
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G1-M4-Lesson 6

Fill in the place value chart and the blanks.

1.

dimes | pennies

1 dime has the same value as

3 5 10 pennies, but it’s just 1 coin.
3 dimes and 5 pennies equal 3
tens 5 ones. That's 35 cents!

dimes ] pennies

0 6 | don't see any tens because
there are no dimes. The
value of 6 pennies is 6 cents.

6 = 0 tens__ 6 ones

118 Lesson 6: Use dimes and pennies as representations of tens and ones.
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Fill in the blank. Draw or cross off tens or ones as needed.

3.
| can draw 1 more dime since
| want to show 10 more. So,
3 tens changes to 4 tens.
30 cents + 10 cents = 40
cents.

10 morethan 30is 40 .
4,

When | cross off 1 penny, |
have 1 less, or 23 cents. |
could write this in my place
value chart as 2 tens 3 ones.

1lessthan24is 23 .

EtR AR NG S A e A Kl Y el
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EUREKA Lesson 6: Use dimes and pennies as representations of tens and ones. 119
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G1-M4-Lesson 7

Write the number, and circle the set that is greater in each pair. Say a statement to compare the two sets.

M o

ﬂ n f look at the tens place first to find the
B number that is greater. 3 tens is more
than 2 tens. So, 30 is greater than 29.

30 29

Circle the number that is greater for each pair.

2, .
4 tens is greater than 3 tens,

3 tens 9 ones 4 tens 8 ones so 48 is greater than 39.

Write the number, and circle the set that is /ess in each pair. Say a statement to compare the two sets.

3.

First, | look at the tens place and both
numbers have 2 tens. Next, | look at
the ones place, and 7 ones is less than
8 ones. So, 27 is less than 28.

Q0000 000
00000 QO

28 27

120 Lesson 7: Compare two quantities, and identify the greater or lesser of the two EUREKA

given numerals.
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14 cents 22 cents

The first set has 5 coins, and the
second set has 4 coins, but you have
to look at the values! Dimes and
pennies are like tens and ones. So, 1
ten 4 ones is less than 2 tens 2 ones.

5. Maddox and Caroline are playing cards. If Caroline’s total has 29 ones and Maddox's total is 26, whose
total is less? Draw a math drawing to explain how you know.

C
- o)

Hey, 29 ones is also ] o
2 tens 9 ones! [ can o

. o (o]
draw a picture and 3 o
. S
ust compare ones!
J p o oo

Maddox’s total is less. 1 know because they both have 2 tens, so I looked at the ones. Maddox only has
6 ones, and Caroline has 9 ones. So, Maddox has less.

EUREKA Lesson 7: Compare two quantities, and identify the greater or lesser of the two 121

MATH" given numerals,
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G1-M4-Lesson 8

1. Draw the numbers using quick tens and circles. Use the phrases from the word
bank to complete the sentence frames to compare the numbers.

28

is less than

30.

b.
| 8 8
1 ten 7 ones is equal to

17.

2. Circle the numbers that are less than 34.

3 tens 5 ones

Word Bank

is greater than
is less than

is equal to

| look at the digit in the tens
place first to compare the
numbers! Even though there

are 8 ones in 28, that’s still less

than aten. 1read from left to
right: 28 is less than 30.

\

/

3 tens 3 ones is 33. Both humbers have
3 tens, but 3 ones is less than 4 ones.
So, 3 tens 3 ones is less than 34.

G

122 . Lesson 8:

AT

Compare quantities and numerals from left to right:

©2015 Great Minds. eureka-math.org
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3.  Write the numbers in order from greatest to least. | read the numbers from left to right. 40 is
greater than 24. 24 is greater than 16....
24
12
40
40 12
16

Where would the number 38 go in this order? Use words or rewrite the numbers to explain.

40 38 24 16 12

1 put 38 between 40 and 24. 38 is less than 40, and 38 is
greater than 24. Look at the tens: 4 tens, 3 tens, 2 tens!

R R R TR S R T s R R e S L A T A U R S s s e e s P FOT S R TR

EUREKA Lesson 8 Compare quantities and numerals from left to right. 123

MATH
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G1-MA4-Lesson 9

1. Write the numbers in the blanks so that the alligator is eating the greater number. Read the number
sentence, using is greater than, is less than, or is equal to. Remember to start with the number on

the left.
a.
23 28 | remember to read starting with the number on
the left. So, 28 is greater than 23. 1 know because
28 23 2 tens 8 ones is greater than 2 tens 3 ones.
b.
29 30
29 is less than 30. 30 is 3 tens! The
alligator wants to eat the bigger number!
29 30
2. Complete the charts so that the alligator is eating a greater number. \
| read the number sentence as
CIN S o - ' 15 is greater than 13. Both
ens
el Rl Yens | ones numbers have 1 ten, but 5
1 5 1 3 ones is higger than 3 ones, so
the alligator eats the number

N 15,
b. . /

.1 write 8 in the ones place, so the alligator \
eats the number 28. | can read the

. number sentence as 23 is less than 28. |

could also write 4, 5, 6,7, 8, or 9 ones,

too!

124 Lesson 9: Use the symbols >, =, and < to compare guantities and numerals.
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3. Compare each set of numbers by matching to the correct alligator or phrase to make a true number
sentence. Check your work by reading the sentence from left to right.

28 18 € 13 has 1 ten 3 ones.
31 has 3 tens 1 one.
So, 13 is less than 31.

is less than

13 31

28 30 >

is greater than

S R R

125
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G1-M4-Lesson 10

Use the symbols to compare the numbers. Fill in the blank with <, >, or = to make a true number sentence.
Complete the number sentence with a phrase from the word bank.

Word Bank
a. - J\f .
21 12 Both of these numbers have the is greater than
' : same digits, but they are in
different positions. That means

‘they have a different value. 2 tens is equal to

is less than

21 _isgreaterthan 12.

1 one is greater than 1 ten 2 ones!

3 tens 32 | put the less than sign between 3 tens

and 32. 3 tensis 30. The smaller end
points to the smaller number!
3tens __islessthan 32.

2 tens 8 ones 29 There are more ones in 29 than

in 2 tens 8 ones, or 28. The
symbol is open on the side that
2 tens 8 ones is less than 29, the alligator likes to eat! But |

still read it from left to right!

19 1 ten 9 ones

19 _isequalto 1 ten 9 ones.

126 " Lesson 10; Use the symbols >, =, and < to compare quantities and numerals. EUREKA

MATH
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G1-MA4-Lesson 11

Draw a number bond, and complete the number sentences to match the pictures.

1. 2.
/- q A
) (W) s
Py AN
20 10
4 tens=_2 tens+_2 tens 3 tens—_1 ten=_2 tens
40=20+20 30—-10=20
| can say the number sentence with place value The number bond shows 3 tens on top
units, so 4 tens = 2 tens + 2 tens. That’s the with 2 tens and 1 ten as the parts. The X
unit way. Or | can just write the numbers the shows that | take away 1 ten. The
regular way, so 40 = 20 + 20. subtraction sentences match.

Draw quick tens and a number bond to help you solve the number sentences.

3. 4,
30 40 <fl can draw 4 quick
/\ /\ tens to show 40. |
. cross off 1 ten. There
20 10 30 10 || are 3 tens left, or 30.
20+ 10= _30 40-10= 30

2tens +1ten = 3 tens. It'sjust
like 2 + 1 = 3, except now it's
tens. The units change!

PR RTINS T T N T T B B e e R N BT R L T mesy

EUREKA Lesson 11: Add and subtract tens from a multiple of 10.
MATH

.
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1e4

Add or subtract.

5. 4tens—3tens=1ten

6. 40 =10+30

| can think of the simpler problem,
4 =1 + 3, to help me solve.

7. 20-20=_240

L 0080000000000 0

128 " Lesson 11: Add and subtract tens from a multiple of 10. URE

MATH
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G1-M4-Lesson 12

1. Fill in the missing numbers to match the picture. Write the matching number bond.
a. b.

0000
OO0

32 39

/\ 12 + 20 = 32 /\ 29 + 10 = 39
12 20 /\ 29 10 /\

1 ten 2 ones + 2 tens = 3 tens 2 ones. The ~
digit in the tens place changes because | add 1 ten more than 2 tens is 3 tens. That’s why there
2 tens. The ones stay the same. is a 3 in the tens place. There are still 9 ones.

A

2. Draw using quick tens and ones. Complete the number bond and the number sentence.

a. b.
tens | ones tens | ones tens | ones tens | ones
+
+
2 3 1 0 1 4 2 0
000 - 0000
33 34
/\ 23 +10 = 33 /\ 14 + 20 = 34
23 10 14 20
AN
N ﬁ
If 34 is the whole and 14 is one part, | can
The number bond shows how | change 23 add 2 tens to make 34. 2 tens is the
to make 33. ladd 1 ten. L same as 20. 14 plus 20 equals 34.
flos s e . i e Lt A £ e = e Vs ) T S TN TP N o s B e PRl i) 0 b e N b e oS P b B R AT R T M R P S N et T = o AL

EUR!KA Lesson 12: Add tens to a two-digit number, 129
MATH
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3. Use arrow notation to solve.

+10

17 —) -
b. [ can think: What number plus 2 tens
+20 will give me 3 tens 9 ones? 1ten
39 < 9 ones plus 2 tens equals 3 tens
O - \9 ones! So, 19 is the number,

L
®-
.
>
o
>
.
'
o=
>
o

4. Use the dimes and pennies to complete the place value charts.

tens | ones tens | ones tens | ones

2 dimes and 6 pennies make 2 tens 6 ones. When |
add 1 dime, | add 1 ten. Now, there are 3 tens all
together. The number sentence is 26 + 10 = 36.

130 "Lesson12: Add tens to a two-digit number.
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G1-M4-Lesson 13

1. Use quick tens and ones to complete the place value chart and number sentence.

/Ican show 26 with 2
quick tens and 6 dots, tens | ones
or circles. 1 can show 3 0
adding 4 using x’s. 6

and 4 make a new ten!

Let me put a line
through these to show
it's aten. Now [ have

Q tens!

26+4=_30_

2. Draw quick tens, ones, and number bonds to solve. Complete the place value chart.

tens | ones
25+5= 30
/\ 3] o0
20 5

25is made of 20 and 5. | can
add 5 and 5 to make 10. Then
know that 20 + 10.= 30.
That’s 3 tens.

3. Solve. You may draw quick tens and ones or number bonds to help.

37 +3= 40 | know this one in my head. 3 more than 37 is 40.
[ am making the next ten when I add 3 to 37.

T T RN R B I T

AR T T T R

iy

Lesson 13: Use counting on and the make ten strategy when adding across a ten. 131
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G1-MA4-Lesson 14

1. Use the pictures, or draw quick tens and ones. Complete the number sentence and place value chart.

Kcan use 2 quick tens and 9

dots, or circles, to show 29. |
only need one more to make
anew ten. Asladd5, the
first x makes a new ten. | tens | ones
start a new column as | draw
4 more x’s. | can draw a line
through the new ten | made.
Now | can see easily that |
have 3 tens and 4 ones.

X XXX
w
NS

29+5=_34

2. Make a number bond to solve. Show your thinking with number sentences or the arrow way. Complete
the place value chart. '

18+ 5=_23
I need 2 more to get to 20 from 18. /\ tens | ones
I can break apart 5 into 2 and 3. 2 3 ‘
18+ 2 = 20. Then 20 + 3 = 23. 2 3
18+2 =20
Here are my number sentences 20 +3 = 23

to show my thinking.

[ can use the arrow way to show
12 43 my thinking too! |startat 18. |
18 — 20 > 23 add 2 to getto 20. Then,  add 3
more to get to 23.

132 " Lesson 14: Use counting on and the make ten strategy when adding across a ten. EUREKA
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G1-M4-Lesson 15

1. Solve the problems.

9 plus 5 is 14.
That one’s easy.

OOOO0  OOOOO 9+5=_14
OO0

19 plus 5is
just 10 more.
That's 24.

i OOOO0 OOOOD 9+5=_34 29 plus 5 is 10
10 Yoooo That's 34.

2. Use the first number sentence in each set to help you solve the other problems.

OOO0n OOOOO 19+45=_24
OO0

a. 3+8=_11_
b. 13+8=_21
c. 23+8=_31

3. Solve the problems. Show the 1-digit addition sentence that helped you solve.

| can use 8 + 4 to help me solve
18 + 4. Iknow that 8 + 4 = 12.

\ 18 + 4 has 1 more ten. That's 22.

184+ 4 =_22 8+4=12 (

oo T o o T N S P T e e AR T T e R e L N S R ey T e e Y

EUREKA Lesson 15: Use single-digit sums to support solutions for analogous sums to 40. 133

MATH
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G1-MA4-Lesson 16

1. Draw quick tens and ones to help you solve the addition problems.

| can draw 13 with 1 quick ten and 3 dots
or circles. I needto add 2 x’s. That's 15.

[s o]

cCOoOOCX X

This time, I'm adding 20, and that’s
13+2=_15 2 tens. I can add 2 quick tens to my
drawing of 13. Now, | have 33.

134+20=_33

2. Make a number bond, or use the arrow way to solve the addition problems.

11+20= 31 ﬁ-‘ | can solve this in different ways! J

10 1 . ]
| can break apart 11 into 10 and 1. Then, | can add my tens.
That's 3 tens, or 30, and 1 one to make 31.

+10 +10 | can also start with 11 and add my tens one at a time.
11— 21— 31

11 + 10 = 21. Then, when | add another 10, | get to 31.

HINEES LT

134 Lesson 16: Add ones and ones or tens and tens.
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G1-M4-Lesson 17

1. Use quick ten drawings or number bonds to make true number sentences.

a. 13+10=23 b. 25+5=_30

5+5=10

104+ 20 =30

[ can draw 13 and then just add
another quick ten. Let me count what
| have now: 10, 20, ..., 23.

| can break apart 25 into 20 and 5. |
add 5 and 5 to make the next ten. The
next tenis 30.

2. How did you solve Problem 1(a)? Why did you choose to solve it that way?

I chose to use a quick ten drawing because | only had to draw 1 more ten. That was a fast way to show
13 +10 = 23.

3. How did you solve Problem 1(b}? Why did you choose to solve it that way?

1 used a number bond because | wanted to see the parts | had. When | broke apart 25 into 20 and 5,
I saw that | could add 5 and 5 to make a new ten.

S b R R oI AL oo £

135

B s S e e

EUREKA
MATH
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G1-M4-Lesson 18

1. Two students both solved the addition problem below using different methods. Are they both correct?
Why or why not?

28+5= 33 28+5= 33
+2 +3
28 - 30— 33 /\
2 3

This student broke apart 5 so she could
get to the next 10. She needed 2 to get
to 30. Then she added the rest and got
to 33. That's correct.

This student used the arrow way to get
the answer. He used 2 to get to 30 and
then added 3 more to get to 33. That
means he added 5 altogether to get to
33. That's correct.

They are both correct. 28 plus 5 is 33. The first student used the arrow way to show his thinking.
That student added 2 to get to 30 and then added 3 more since he had to add 5 altogether. The
second student used a number bond to show how she got to 33.

2. Another two students solved the same problem shown below, using quick tens. Are they both correct?

Why or why not?

16+2=_18 | already know 16 + 2 = 18. When | look at 16+2=_36
% the drawing, it matches the number sentence.
x
@ ®
® . [ )
: - This does not look right. Let me see. | :
® see too many quick tens. 1 know! This ®
® student added 2 tens instead of 2 ones! o

The first student is correct. The second student is not correct. The second student added quick tens
instead of ones. He has too much.

136 Lesson 18: Share and critique peer strategies for adding two-digit numbers. EUREKA
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3. Circle any student work that is correct.

Student A Student B Student C

13+20= 16+ 5= 17+9 =

R+20%3 R} DS
R pe000 | =%
1O20=30 V7232 =20

| know 16 + 3 = 19 not 20. 1can see this is not
correct. | can fix it by writing 19 instead of 20.
| can then add 2 to 19 and the total is 21.

Fix the student work that was incorrect by making a new drawing or drawings in the space below.

632 195

Choose a correct student work, and give a suggestion for improvement.

Student A’s work can be solved without breaking apart 13. | can just add 2 tens to 13. I can do this in
my head and get the answer 33.

et e e

EUREKA Lesson 18: Share and critique peer strategies for adding two-digit numbers. 137

MATH

©2015 Great Minds. eureka-math.org
G1-M1-HWH-1.3.0-07.2015




G1-M4-Lesson 19

Solve using the RDW process.

John has 5 red racecars and 12 blue racecars. How many racecars does John have in all?

Kcan draw 5 circles for thh

red racecars. | put my
circles in a rectangle to
keep them organized. |
label my drawing with the
number 5 and the letter
R, so | know that this
rectangle represents the 5
red racecars.

! connect the two rectangles and draw a box
with a question mark labeled with the letter T
because it is the total. When 1 find the total,

I will know the answer to the question.

5 12
_—7

L B
| can draw 12 circles for the blue racecars. | organize my circles and put

them in a rectangle labeled with the number 12 and the letter B, so | know
that this rectangle represents the 12 blue racecars.

5+12= 1} 17 /l draw a box around 17 because it
is the total and answers the

question. The last part of RDW is
write, | can write a statement to John has 17 racecars.
answer the question.

138 L&sson 19: Use tape diagrams as representations to solve put together/take apart UREKA
- with total unknown and add to with resuft unknown word probtems. MATH"‘
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Solve using the RDW process.

G1-M4-Lesson 20

What can | draw?

1. Mary has 14 play practices this month. 7 practices are after school, and the rest are in the evening.

How many practices are in the evening?

What do | know after reading the problem? ]

| know the total, or the
whole. | can draw 14
circles in 5-group rows
to represent the total
number of practices.

14

0006606 00000 VOO0

A 7 7 E

\

| know there are 7 practices after

school. 1 can draw a rectangle | draw a rectangle around the rest of the circles.

around 7 of the circles to represent This represents the practices that are in the

the 7 practices that are after school. evening. |count the circles and see there are

[ label the rectangle with the letter A 7 practices in the evening. | label the rectangle
\for after school. / with the letter E for evening.

14-7=17 | draw a rectangle around
the 7 because 7 is the
anhswer to the question.

Mary has 7 practices in the evening.

R A R R S Y T e, R S

diagrams when solving a variety of problem types.
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2. Katelyn gave some of her stickers to her friend. She had 18 stickers at first, and she still has 12 stickers
left. How many stickers did Katelyn give to her friend?

represent the stickers
Katelyn gave to her friend
and label with the letter G.
I puta ?in the rectangle
because | don’t know how
many stickers Katelyn gave
to her friend.

/Ican,draw arectangle to\

I can draw two lines connecting
the rectangles and label the total
to represent the 18 stickers.

~J

00000 60000 OO

12 L

| can draw more circles and
count on from 12 to 18 to
find the number of stickers
Katelyn gave to her friend.

I can draw a rectangle with 12 circles
labeled with the letter L to represent the

12 stickers Katelvn has left.

6 |+12=18

Katelyn gave 6 stickers to her friend.

140 Lessan20:

Recognize and make use of part-whole relationships within tape EUREKA
diagrams when solving a variety of problem types. MATH"

©2015 Great Minds. eureka-math.org
G1-M1-HWH-1.3.0-07.2015

104"




PR EEFEEF R EEEEEERLNEERLELEEREEERERERERERLERLENR R R NENENRSDRLZS SRR B/

G1-M4-Lesson 21

Solve using the RDW process.

Emi made a bracelet that was 13 centimeters long. The bracelet didn’t fit so she made the bracelet longer.
Now the bracelet is 17 centimeters long. How many centimeters did Emi add to the bracelet?

T

17

00080 9006086 OOO|0O000

F 13 4 A

| can draw more circles for the length
1 can draw 13 circles to represent the length Emi added to her bracelet until the

of Emi’s bracelet at first. |label with the total is 17 beads. |add 4 circles to
letter F for first beads on the bracelet. represent the added length.

13+ 4 |=17

Emi added 4 centimeters to the bracelet.

EUREKA Lesson 21: Recognize and make use of part-whole relationships within tape 141
MATH" diagrams when solving a variety of problem types.
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G1-M4-Lesson 22

Use the tape diagrams to write a variety of word problems. Use the word bank, if needed. Remember to
label your model after you write the story.

What does this
drawing tell me?

T
:“ The total is 15. ]

11
A
X I have some. ] ﬁ | add 11 more. j
Topics (Nouns) Actions (Verbs)
flowers goldfish lizards hide eat go away
stickers rockets cars give draw get
frogs . crackers marbles collect build play

I can use the words in the box to help me think
of what to write, or I can think of my own idea.

Beth picks some flowers for her mom in the morning. She picks 11 more flowers in the afternoon. Now she
has 15 flowers for her mom. How many flowers did Beth pick in the morning?

142 "lesson22:  Write word problems of varied types. ‘ EUREKA
MATH
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G1-M4-Lesson 23

1. Fill in the blanks, and match the pairs that show the same amount.

| can match these pictures because they both show 32. 3 tens
2 ones is equal to 2 tens 12 ones. If | bundle 10 ones in the
picture on the right, it would have 3 tens 2 ones.

= © OO0 O
e ® B oo
io|| (lio : lo|| =
= |
—_ N’
@
“Z- 3 tens_2 onesones _ 2 tens_12 ones
2. Match the place value charts that show the same amount.
The place value chart shows how many
tens and ones. It’'s okay to have more
than 9 in the ones. 2 tens 15 onesis 35.
tens | ones tens | ones
3 5 3 7
tens | ones : tens | ones
0 37 3 tens 7 ones is the same as 37 2 15
ones. 1can unbundle the 3 tens,

which makes 30 ones. Iadd the 7
ones, and now | have 37 ones.

AR T TR AT L R R T T

EUREKA Lesson 23: Interpret two-digit numbers as tens and ones, including cases with more 143

MATH" kthan 9 ones.

©2015 Great Minds. eureka-math.org
G1-M1-HWH-1.3,0-07.2015




3. Emisays 29 is the same as 1 ten 19 ones, and Ben says 29 is the same as 2 tens 19 ones. Draw quick tens
to show if Emi or Ben is correct.

m

mi Ben

One straight line is a quick ten. | draw 1 quick
ten and 19 ones for Emi’s drawing. | draw 2
quick tens and 19 ones for Ben's drawing.

Emi is correct because 1 ten 19 ones is the same as 29. Ben is not correct because 2 tens 19 ones is
the same as 39, which is not 29.

144 Lesson 23: Interpret two-digit numbers as tens and ones, including cases with more EUREKA
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G1-M4-Lesson 24

1. Solve using number bonds. Write the two number sentences that show that you added 10 first. Draw
quick tens and ones if that helps you.

a b.
157?< 28 16+23=_39
10 3
10 6
15+ 10 = 25 23+10=_33

" 25+ 3 = 28 33 +6=_39
*

»

: ‘

[

®

[ ]

* |

s

want to add 10 first, so |
I draw 15 using quick tens and ones. | can break apart 16 into 10 and
break apart 13 into 10 and 3. 1add 15 and 6 using a number bond. 1
10, which equals 25. | add the 3 ones to 25. add 10 to 23 and get 33.
| use X’s to show | am adding the 3 ones. Then, | add 33 and 6,

\which is my answer of 39./

PRI T T R S AT T e A M R G e e T YT e Pl R A PSS BV DTt AW S YR ) R o P
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EUREKA Lesson 24: Add a pair of two-digit numbers when the ones digits have a sum less 145

MATH" than or equal to 10.
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2. Solve using number bonds.

a. b.
17 +23 = _40 22+18=_40

A N

10 7 23+ 10 = 33 10 8
3347 =40

| can break apart 17 into 10 and 7 | didn’t write the two number sentences
using a number bond. 1add 10 and because | was able to add in my head.
23, which equals 33. Then, I add 33
and 7 to get my answer of 40.

SRENEGTE

S ] T e e e

IR T TR RS,

146 Lesson 24: Add a pair of two-digit numbers when the ones digits have a sum less EUREKA
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G1-MA4-Lesson 25

1. Solve using number bonds. This time, add the tens first. Write the two number sentences to show what
you did.

a. b.
12+16=__28 23+17 =_40
10 2 10 7
16 +10 =26
33+7=40

I need to add the tens first. [can break apart 12 into
10 and 2 and add 10 to 16 first. 10 + 16 = 26. |
still have 2 more to add: 26_+ 2=128.

2. Solve using number bonds. This time, add the ones first. Write the two number sentences to show what
you did.

a. b.
| 23+16=_39 11429 =_40
6 10 10 1
23+6=29 | 29+1=30
29 + 10 = 39 30 + 10 = 40

i can still break apart 16 into 6 and 10,
but this time 1 add the 6 ones to 23 first.

I notice that when | add my ones,
the result is the next 10.

e e S e A B i SN S S R e i o
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G1-M4-Lesson 26

1. Solve using a number bond to add ten first. Write the two addition sentences that help you.

I need to use the add ten first strategy. | break apart
one of the numbers into 10 and some ones.

a. 25414=_39 b. 19+15=__ 34
10 4 10 5
25+10=_ 35 19+10=_29
35 + 4_ - 39 29 + 5 = 34‘

Adding 10 to a number is easy. [ know 25 + 10 = 35.
Now | just have to add the ones; that’s easy too.

T T ST
148 "Lesson 26: Add a pair of two-digit numbers when the ones digits have a sum greater EUREKA
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2. Solve usinga number bond to make a ten first. Write the two number sentences that help you.

a 16 + 19 = 35 b- 18+14 = 32
15 1 2 12
20 +15=_35 20 + _12 = 32

16 is broken apart into 15 and 1 because

t could have also chosen to break
19 needs 1 more to make the next ten.

apart 18 into 6 and 12 because | can
make the next ten with 6 and 14.

T R T L T R T T T S T R T e T T T B T T R R v
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G1-M4-Lesson 27

For the following problems, solve using the strategy that makes you feel most comfortable.

1 15+17=_32 | feel more comfortable using quick tens and

ones. | can draw 17 with one quick ten and
10 5 7 ones. | draw the ones with 5 closed circles
and 2 open circles, to help me see how many
more 7 needs to make a new ten.

17 +10 =27

27+5=32 | can break apart 15 into 10 and 5, and add a quick \
ten next to the quick tenin 17. Now [ only have 5
more to add. | use x’s to draw this part to help keep
track of how many { need to draw. | add 3 x’s to the 7
onesin 17 .1draw a line through the circles and x’s
because 7 and 3 makes a ten, | have 2 more to draw, |

~ can draw 2 more x’s. My drawing shows 32. /

xXx

2. 18+14=_32

18 +10 =28 /For this problem, | feel most comfortable using the
1 add ten first strategy, which means | break apart 14
into 10 and 4, and then | add 10 and 18 which
makes 28. | have 4 more to add. 28 and 4 is 32.

3. 19+12=_31 :
19+ 2 =21 /For this problem, | feel most comfortable
adding the ones first. 12 is ten and 2. | can

21+10=31 add the 2 to 19, which makes 21. Then, [ can
quickly add the 10 to get the answer.

28+4=32

4. 194+18=_37

19+1 = 20 / For this problem, I feel most comfortable making

La 10. [ know that 19 needs one more to make

20+17 =37 20. 1 can easily break apart 18 into 1 and 17.

150 "Lesson 27: Add a pair of two-digit numbers when the ones digits have a sum greater EUREKA
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G1-MA4-Lesson 28

Solve using quick tens and ones, number bonds, or the arrow way.
1. 26+13=_39
| solved using the arrow way because | know
13is 10 and 3. 1 can add the 10 first to get
: +10 _ +3 i
26 29365 39 36 and then add 3. My answer is 39.

2 16 I solved using a number bond. | made a ten.
I know 18 needs 2 more to make 20, so |
broke apart the other 18 into 2 and 16. |
added 20 and 16 to get my answer of 36.

18+2 =20
20+16 =36

3. 22+ 18=_40

I solved using quick tens and ones. | can
draw 2 quick tens and 2 ones. | can draw
18 more. 18is 1 ten and 8 ones.

I can draw the 2 ones in 22 with circles
and the 8 ones in 18 with x’s. When | do
this | make a new ten and draw a line
through it.

EUREKA Lesson 28: Add a pair of two-digit numbers with varied sums in the ones.
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G1-M4-Lesson 29

Solve using quick tens and ones, number bonds, or the arrow way:.

1. 24+16=_40

I solved using the arrow way because | know
16is 10 and 6. | can add the 10 to 24 first
to get 34. | know that 34 and 6 is 40.

+10 +6
24 — 34 — 40

\

2 17412= 29 | solved using a number band. |
) E— added 17 and 10 and got 27. Then |
/\ added 27 and 2 to get my answer of
10 2 29. i didn’t need to write the
number sentences because | can do
the math in my head. /

I didn’t solve any using drawings this
time. Using the arrow way and
number bonds is more efficient for
me now. if | get stuck | can always
use a quick ten drawing.

152 Lesson 29: Add a pair of two-digit numbers with varied-sums in the ones. EUREKA
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